
qm=;+= ljj/0f nfut /sd ?=  s}lkmot

1
sljnf;L gu/kflnsf j8f g+= $ sf] j8f sfof{no x]dk'/df

sDkfp08 jfn lgdf{0f sfo{ / sDkfp08 jfn leq k|fËgdf df6f] k'g]{

sfo{ 

1,200,000.00        

2
afudlt l;+rfO{ cfof]hgf k8l/of k|zfvf sf] gx/ b]lv klZrd hfg]

/fdlszf]/ ;fxsf] ls/fgf k;n x'b}+ hgtf /fdb]j lj/]Gb| k|f=lj= ;Dd

;8s 5]pdf klSs gfnf lgdf{0f ug]{ sfo{

3,600,000.00        

3 k|df]b /fosf] 3/ b]lv pQ/ hfg] jnl d08nsf] 3/ ;Dd ;8ssf] b]j}

5]p kSsL gfnf lgdf{0f
2,000,000.00       

4
/fd ctf/ /fosf] vl/ofg b]lv pQ/ hfg] j08jf ;8s dd{t /

k|;fbL /fosf] v]t ;Dd gofF ;8s lgdf{0f ug]{ sfo{ jf /fdO{Zj/

/fosf]  3/b]lv pt/ nIfd0f;fx sf] 3/;Dd gfnf tyf ;8s lgdf{0f

500,000.00          

5 sljnf;L gu/kflnsf jf8{ g+= $ df anl d08nsf] 3/ b]lv pQ/

hfg] b/]z /fosf] v]t ;Dd ;8s dd{t tyf u|]en ug]{ sfo{
400,000.00         

6 sljnf;L g=kf= jf8{ g+= $ cR5]nnf /fosf] 3/ b]lv pQ/ hfg] /fd

k|a]z pkm{ vt/fsf] 3/ ;Dd ;8s dd{t tyf u|]en
125,000.00          

7 sljnf;L g=kf= jf8{ g+= $ df /fd s}nfz /fosf] vl/xfg b]lv

klZrd hfg] uf]o8f kf]v/L ;Dd ;8s dd{t
100,000.00          

8 sljnf;L g=kf= jf8{ g+= $ df ax]l/ofsf] a|xd :yfgdf lgdf{0flwg

d8jf /x]sf]n] d8jf lgdf{0f sfo{
25,000.00            

9 ;fljs jf8{ g+= % /x]sf] rf}tf/f dd{t sf] nflu 50,000.00           

hDdf 8,000,000.00       
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